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p’ =1 but then she needs to multiply by 4. Correct answer: 4

b She has forgotten to square the 7. Correct answer: 49 x

She has multiplied the powers rather than adding them.
Correct answer: 6y’

She has subtracted the two numbers rather than dividing
them. Correct answer: Sa
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Not equivalent:
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5§ Jamil has not fully simplified the expression. The fully
simplified answer 18 2x—7
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Students’ answers, €.8.

L 1 A Wn
jaw

b X2+ 11x+30
b X2+ 8x+12
d x’-4x-5

f x*-3x-28
b x*=13x+22
d x*-5x-36
f x*—x-42
b x*-4x+4

(x+D(x+2)(x+3)= (JC+1)(x2 F 3% +6)

=x>+6x°+11x+6

2G
1 38 150 b. ;112
2 bk
¢ "3"; £ ;
2 2 012 b 0.6
2
d 22.8 ¢ "1—3-

3 a V=15 volts
4 a 133.5 minutes
¢ 106.5 minutes
5§ a l4cm b 31.4cm
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b V=216 volts
b 169.5 minutes

¢ 26.8cm

¢ 0.62
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